
Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply by powers of ten (missing number)

9.714 × ________ = 9714 10.184 × ________ = 10184

10.337 × ________ = 10337 3.286 × ________ = 32.86

3.589 × ________ = 35.89 5.953 × ________ = 5953

4.116 × ________ = 4116 9.24 × ________ = 924

3.058 × ________ = 3058 9.728 × ________ = 97.28

3.648 × ________ = 364.8 10.159 × ________ = 101.59

6.531 × ________ = 65.31 5.58 × ________ = 5580

6.5 × ________ = 65 1.327 × ________ = 13.27

6.325 × ________ = 632.5 7.075 × ________ = 70.75

7.705 × ________ = 770.5 7.454 × ________ = 7454
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